Ei30F4A1BHERE BLTEEEXRBIIRAORVHEH

FR0EIA1BHE BLTFREFERAORUHE

Maig B i A0 B | HER i 2, B A0 = AO A0 E HEH

J\ g ithis 6,573 7,072 13,645 5,408 2 |RABEAN| =2 |RAEAN| 2& [(RAEAl £EF& |KRIAEA
A F gk 3,263 3,420 6,683 2,181 J\ i i igg 6,587 61 7,046 68 13,633 129 5,431 94
B B ik 5,526 5,747 11,273 3,955 K sthisk 3,253 23 3414 15 6,667 38 2,188 38
= B i 1,524 1,604 3,128 1,122 B & ihig 5,502 57 5,733 69 11,235 126 3,959 117
Eifihis 2,018 2,094 4,112 1,367 = i 1,521 21 1,583 17 3,104 38 1,119 37
B = Hthigl 833 872 1,705 567 55 3 3t igk 2,004 19 2,087 30 4,091 49 1,365 38
B Mo 839 915 1,754 702 AR = it 35 823 0 856 5 1,679 5 559 5
MET2HE 20,576 21,724 42,300 15,302 B M 836 14 913 42 1,749 56 708 54
B EMEE 20,526 195 21,632 246 42,158 441 15,329 383
R (A ) A 14 1 A 36 4 A 50 5 A2 6

XEREXRBIRAODGZHEAEREZSD,

B i A0 i HEH
M SHELA () 183 249 432 374 EpE30FETAIHERE BLTEREXBIEAORVHEFHE(HEADH)

M ig % Bt T | A0 5 | #HEHK

J\ i ik 6,526 6,978 13,504 5,337
A F0 3 ig 3,230 3,399 6,629 2,150
B & sk 5,445 5,664 11,109 3,842

= S gk 1,500 1,566 3,066 1,082
Eik: b= 1,985 2,057 4,042 1,327
BA = i ik 823 851 1,674 554
B Hhig 822 871 1,693 654
MBETEHE 20,331 | 21,386 41,717 | 14,946
B (ATA ) A 15| A 40 A 55 A8




